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(A5HA Y 73) = (71=2) x (A=2) x (&°])
=8x3x5=120(cm?)
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2m75cm= 275cm, 4 m= 400 cm, 3 m= 300 cm
(7F=2) : 275+ 30 = 9.1666 --- — 9 7

(M=) : 400 + 30 = 13.33333--- — 13 7l
(3°]) : 300 +30 =10 — 10 7

1= 7122 97, N22 13712

9% 13 = 117N 7] & 4= A,

BT 10 37HA B 4 JeBE E1E

9x13x 10 =1170(7R) ¥= 4 UFY.
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AgAA 9] Lol [ Jem 2 51
(A&HA 0] FHol)=(LHlol)x2+(FHol)
680 = (10X 10) X 2 + (10 + 10 + 10 + 10) x[_|
680 =100 x 2 + 40 x| ]
680 = 200 + 40 x| |
40 %[ ] =680-200
40 x[_]=1480

[ ]=480+40 = 12(cm)
=0]7} 12¢cm | B2
(A-SHA 9] )= 10 x 10 x 12 = 1200( cm?)
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g A dol= 20cmO| ER FS5HA| 9] F1l=
20 x 20 x 20 = 8000( cm? )%Mﬂr.
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39.304 x 1000 = 39304cm3 YUt}




